

Multiply by 10^{-3} (E)

Find each product.

$$8,3 \times 10^{-3} =$$

$$7,081 \times 10^{-3} =$$

$$7,86 \times 10^{-3} =$$

$$6,1824 \times 10^{-3} =$$

$$2,2 \times 10^{-3} =$$

$$4,9336 \times 10^{-3} =$$

$$9,88 \times 10^{-3} =$$

$$0,7701 \times 10^{-3} =$$

$$9,93 \times 10^{-3} =$$

$$2,65 \times 10^{-3} =$$

$$2,462 \times 10^{-3} =$$

$$8,6936 \times 10^{-3} =$$

$$5,49 \times 10^{-3} =$$

$$5,1 \times 10^{-3} =$$

$$1,2012 \times 10^{-3} =$$

$$4,847 \times 10^{-3} =$$

$$3,6 \times 10^{-3} =$$

$$8,76 \times 10^{-3} =$$

$$9,76 \times 10^{-3} =$$

$$7,8 \times 10^{-3} =$$